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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Given below are four statements followed
by four conclusions. ldentify which
conclusion(s) definitely follow(s) the given
four staterments disreganding the commonly
known facts.

ZdAEeG |

Statements:

1. Alldogsarecats

2. Some cats are tigers
3. Alltigersare lions
4.  Nolionisadonkey

Conclusions:

I[) Some cats are dogs

I}  All lions are tigers

lI) Some donkeys are tigers
IV) Notigerisadonkey

(A) Onlyconclusion I follows

(B) Only conclusions [ll and IV follow
(C) Onlyconclusions Il and 11 follow
(D) Onlyconclusions | and IV follow

If the below alphabets are formed as per the
ascending order of their appearance in the
standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4™, 6% 9" and 16*
position from left?

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Study the below series and identify what can
come in the place of "7,

GAS27,IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS7?

(B) WWO61

(C) YUMS59

(D) YWN62

Study the below series and identify what can
come in the place of “7".

3947, 4379, 7493, 9734, 7
(A) 9437
B) 7934
(C) 4793
D) 3947

Ifthe symbols “+” and “—" are interchanged,
“x"and “+" are interchanged, and also the
digits “3" and **7"" are interchanged, then what
will be the value of the below equation?

83x7-79+63+7
(A) —133

(B) -350

(C) 244

D) 511

LM-A

frferaa s #1 ud 3l o o8
geifEEd (“77) ® W W @F 6 U9
ST |

GAS27, IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS7

(B) WWO61

(C) YUMS9

(D) YWNG62

Freferiae si@en @ ug 3R o @ @
gl (“7) & W U $F e
e |

3947, 4379, 7493, 9734, ?
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afey frforfiaa wireor # «+ affw <
PN [H-gEY ¥ ggd faar Wy, “x” 3w
e Y TH—gER W gaal AT G, T
gimf “3” afiy «7” &Y A H—gE W 95
fr g ot =i &g g e @ A
T EY

83x7-79+63+7
(A) —133

B) -350

(C) 244

D) 511
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The ages of husband, wife and their son are

in the ratio of 10 :9 : 3. Tocalculate the age

of the son, which of the below pieces of
information is additionally required and
sufficient?

(A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) The difference between the age of
father and son is more than the
difference between the age of mother
and son,

(D) The sum ofthe agesof all the three isa
perfectmultipleof 11,

The perimeter of a rectangular ground with

corners A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is

additionally required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) The sum of the diagonals is 8 metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) The sum of all the intemal angles of the

rectangzle is 360°.,
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We need to find the value of *a’ from the

below two equations, if both a and b are

positive integers.

1) 2a+b=22
2) 3a-2b=12

Mow, read the below options and select the

one that applies.

(A) OnlyEquation 1 is sufficient to derive
the value of *a’.

(B) Only Equation 2 is sufficient to derive
the value of ‘a’.

(C) Neitherequations | or 2 alone are
sufficient, but both together are required
to derive the value of ‘a’.

(D) The value of ‘a’ cannot be derived by
any individual equation oreven by both

equations combined.

Ifin acoded language ‘PEASANT” is written
as ‘RQYVYHN’, how will 'RANCHER" be
written in the same language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

1456072
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frfafaa wftawl 4 5 ‘2’ &1 99
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) 2a+b=22
2) 3a-2b=12

¥, Frafafen e od o a9 9 &
W fawey ar 8, wawr ga #ifg |

(A) ‘a’ T 7F ¥ F & foy daq
W@ | ggfer &

(B) ‘a’ &1 W9 9 &¥9 & o0 Paw
wrawer 2 yata &)

(C) ‘a® & AF I T & o 7 o
el w1 gl & ofiw A &
sreperl WAt 2 vafwr &, e St
v ¥ amaeas #)

(D) ‘a’ & 7 fEed ot o wftevor |
7ol sa f&ar o weo 8, g% 9%
fos 21 Wl & Wy wu A R
78 s & on W #)

U Hc 9 # afd ‘PEASANT' &
‘RQYVYHN’ forar siren 8, of ovft o
w91 # ‘RANCHER’ @t & féran smgoy?
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Study the given table carefully to answer the
question that follows.

Sale (in crores) of no. of units by four
companies (cos.) over the years (yrs).

Co.yr| 2015 | 2016 | 2017 [2018 |
A 115.8 H5.7 589 | 46.6
B_|150.1 | 763 | 37.2 | 39.1
C | 933 | 695 | 53.7 [ 489
D 1806 | 111.1 | 21.2 | 33.4

Which company has sold the maximum num-
ber of units over the years?

(A) A

(B) B

(C) C

(D) D

If P+Q impliesP-Q
P-Q impliesPxQ
PxQimpliesP+Q
P+QimpliesP+Q

Which of the following is TRUE?
(A) 1+2-6x3+8=8
(B) 6+2-3x1+4=12
(C) 25+6-45x9+23=18
D) 10+4-3x]1+2=5

Find the odd one out of the below
geometrical shapes.

Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium

(A) Rhombus
(B) Triangle

(C) Panliclogram
(D) Trapezium

19336072
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et ofes & v | & sl
oS g v vy w1 9w 2

R PP gRr e o a6 4 4
afrew # A (@S #)

w./m| 2015
A 1158
B 150.1
C 933
D | 1806

2016 |
85.7
76.3
69.5
151

Red 7o oot 4 e B A afem
e # gfvew @ R A

2017
58.9
37.2
337

212

2018
| 46.6
19,1
48.9
134

(A) A
(B) B
(C) C
(D) D

aft P+ Q &1 aef 2P-Q,
P-Qar 3 8P xQ,
PxQ@raed 8P+ Q,
P+Q® aef & P+Q, 7

frefafaa 4 ¥ 29 o1 o= 9 &7
(A) 1+2-6x3+8=8

B) 6+2-3x1+4=12

(C) 25+6-45x9+23=18

(D) 10+4-3x1+2=5

Prfarfen s iyl # & fr
gy B gEam A |

i, P, o, wwioR wpi, s
A AP

(A) ST

(B) P

(C) THiTR T
(D) w9er T
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Find the odd one out from the below group
of names.

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Study the below diagram and identify the
option that is NOT correct

(A) Some lions are not goats
(B) Some goats are lions
(C) Lionsare notsingers
(D) Some goats can sing
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Frafafaa am wgEl 34 | g AN
qedi- & ol |
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(A) HeITE—uI
(B) @1

(C) =Tammch
(D) ¥R
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ey &1 9g9 % o 98 T8 &
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(B) & a&ival v #

(C) IR TaE E &

(D) | F@ial 7w §
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Two positions of a dice are shown as below.
If the number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

P (7

(A) 1
B) 2
(C) §
(D) 6

Deepak left his home and walked 4 km
towards east, then tumed left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked B km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

Q15
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frefofaa 4 @ o9 @ @ Ruft
weita &t w2 &) of? wam 4 TR G
@ facge favda 6 8, o e 3 9@
o B fege Rudia @ @ wien

oo

(A) 1
(B) 2
(€) 5
D) 6

dIuw Jfew o & v o w9
Fea®t 4 km qxe @ 3R weo @, fw
¢ 43 T 3 km g # ) Swdh aww
it siew oF @ g o w9
Faa®t 16 km g0 9 3R gad 8, siv
f5v A g8 &% 8 km wah &) aiffw
R s & w1 <prom gf e 80
(A) 10km
(B) 13km
(C) 17km
(D) 18km
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Q17 Ifthe pentagon shown below is rotated anti-
clockwise 270° three times, the rhombus is
rotated clockwise 45° four times, and the
mirror image of the alphabet is used, then

what is the resulting figure?

&

(A)
(B)

(&)

(D)

CRORORC)

LM-A

SOCL D68 |

@@ @
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Q17 afk frafaflm ¥ waffia doyw =t vl
# g A fda Rw # &7 = 270°
garan wren &, weEge ud A gl A
faen # um AW 45° g W 8, AR
e @ i Wil sy R Sm
8, o qRemd sty @ <@ e

(A)

B)

(©)

(D)

&
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Q18 Below is a statement followed by two

Q19

conclusions, Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given,

Statement:

For late return of books by readers, a library
charges penalty of ¥ 10 per day for the
number of days of delay beyond the due date.

Conclusions:

I)  Penalty for costlier books will be
higher.

II)  Penalty for lighter books will be lesser.

(A) Onlyconclusion I follows

(B) Only conclusion I follows

(C) Eitherconclusion I orII follows
(D) Neither conclusion I nor I follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of aero planes.

(B) Passenger traffic in trains significantly
increases during vacations,

(C) People need change and like to see new
trains during vacations.

(D) Engine drivers like to work for more
hours during vacations.

LM-A
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(020 Read the statement below and two courses
of action given. Choose which course(s) of
action need(s) to be taken with regard to the
statemnent given.

Q21

LM-A

Statement:

Despite having a standard work timing of 10
am to 6 pm, there has been more number of
cases of employees reporting late for work,
which affects the work flow in the factory.

Courses of Action:

I.  Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

Il. Thework timing must be made flexible
so that everyone is able to come as
per his or her own convenient time.

(A) OnlyAction | needs to be taken

(B) Only Action Il needs to be taken

(C) Either Action I or Action Il needs to
be taken

(D) Neither Action | nor Action I needs to
be taken

If Puzzle :: Solve, then Essay :: 2. Identify
what can come in place of 7.

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

=2 WA=
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(A) @aa frafafey | s o wadh &
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(A) ¥

B) forgar

(©) srgara
(D) foran
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Select the option that is related to the third
term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : 7
(A) Spectrometer

(B) Seismometer

(C) Hygrometer

(D) Osmometer

In a certain coded language, if “LITMUS”
is written as “SMIUTL" and “INDIGO” is
written as “OINGDI", then how is the word
‘JAGGER’ would be written in that
language?

(A) RGAEG)

(B) RGIEGA

(C) RGAGEJ

(D) RGIEAG

In a certain coded language, if *“TABLE' is
written as ' VEDNI" and ‘CHAIR’ is written
as ‘EJEOT", then how is the word
‘BENCH' would be written in that
language?

(A) DIPFJ

(B) DGPE)

(C) DIPEJ

(D) DGPFT

If P@Q means P is the husband of Q; J#L
means L is the son of J: and N$M means N
is the brother of M, then which ofthe below
options definitely states that B is the mother
of A?

(A) A#BSC@D

(B) CSD@A#B

(C) BSCHA@D

(D) D@B#CSA

18167366
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Wi am R ST I e @
I e W waRa & o ave 9§ @
I YEct ¥ ¥ warm 81

AT oae - anEar: ?
(A) WaEgHeY
(B) ¥einiey
(C) srEUMER
(D) aifeirfiey

U6 @ W § gfe “LITMUS” &)
“SMIUTL" foren s & &= “INDIGO™
#1 “OINGDI" forar o &, o 99 @
W § we ‘JAGGER' &1 &9 fomm
T

(A) RGAEG]

(B) RGIEGA

(C) RGAGEJ

(D) RGIEAG

U @2 W A afE “TABLE’ &1 *VEDNI'
foren 9 @ @em *CHAIR® &1 ‘EJEOT?
feran omen &, o 98 3= W i ‘BENCH'
& 4 forar wmg?

(A) DIPF)

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

% P@Q @1 e 8 5 Qawr ufy P &;,
JHL @ ard & 3 @1 g3 L 8; 3l NSM
1 3 8 f M @1 wid N &, o Fr=ferfam
A 9 @ W fwe ghlea s @
A ® i B#?

(A) A#BSC@D

(B) CSD@A#B

(C) BSC¥A@D

(D) D@B#CSA
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SECTION-2| GENERAL KNOWLEDGE | 50 QUESTIONS

In which of these hill stations would you find
the Cheeyapara Waterfalls, Pothamedu
View point and Attukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

Thecity of ‘\r’eniu..criss-cmssed by canals
and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) laly

Mount Etna, considered to be the most
active volcano of Europe, is located in:
(A) Portugal

(B) Spain

(C) Greece

D) ltaly

14
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(A) =R

(B) 1

(C) Trsgael
(D) TIe

dfe wEe ot e ok gai 9 g @,
Frfofaa f5a 2w § fea 82

(A) STH

(B) wWieds

(C) Wi

(D) se=it

A Tedl, R R 1 waw wia
SATITd! A e &, 9 et i
o 5w 2w 9 fum &7

(A) T

(B) ¥

() s

(D) Feeit
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Ponmudi is a small hill station in South India.
Itis located near which of these cities?

(A) Kozhikode

(B) Madurai

(C) Thiruvananthapuram

(D) Mangluru

Name the city that is the capital of Western
Australia.

(A) Darwin

(B) Perth

(C) Brisbane

(D) Hobart

Article 161 ofthe Indian Constitution confers
pardoning powers and commutation of
sentence powers on:

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The Chief Justice of India

Articles 5 to 11 of the Indian Constitution
deal with which of these aspects?

(A) Citizenship of India

(B) Languagesin India

(C) Boundaries of Indian states

(D) Education for children

LM-A
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Q29

Q30

Q31

Q32

S, S YR & U e W R
R ¥ 98 5w e & g Rew 87
(A) DIfsPrs

B) w5

(C) foreariagw

(D) H1gs

frfafeg § & o9 & wee of¥Ed
aifesferar & wromr 87

(A) =ifds

B)

(C) fawm

(D) g

ARG WREH & g 161 $ ITaN
Ffafaa 49 59 9o 1% & @
AT H -0 A 9 ufd wre &7
(A) WIRG & ey

(B) WA & WETTHAT

(€) fafr= oot & T

(D) YRa & &I AR

R Wfgm @ ages S 11
frefoafiaa % | f5a vee & wilkta &
(A) W & AR

(B) W ¥ g

(C) Wi wrwdt &t Wl

(D) ==t & forg fen
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Q33 AsofApril 2019, who is the Governor of

the state of Maharashtra?
(A) E.S.L.Narasimhan

(B) CVidyasagar Rao

(C) Palanisamy Sathasivam
(D) Anandiben Patel

What does article 300A of the Indian

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights.

(C) Noperson shall be deprived ofhis
property.

(D) No person shall be deprived ofhis
privacy.

Articles 324-329 of the Indian Constitution
deal with which of these aspects?

(A) Elections

(B) Minorities’ protection

(C) Panchayats

(D) Powersofagovernor

Currently, what is the highest percentage slab
for the new tax regime called Goods and

Services Tax (GST)?
(A) 18%
B) 25%
(C) 28%
D) 32%

Q33 il 2019 T SYTE! SFDHN & ATAR

HERIE W9 & Uoaue $iF 87
(A) 2vave. e

(B) 4 faamar =

(C) varrar waftaw

(D) QAT uee

i Wi @ s 300A Pl

# ¥ fwa TR ar 87

(A) D1 N ftmr aoeh fen | dfm
w6l B |

(B) 1 Wt @Afdw o daifee aferY
W dfera w8 &)

(C) ®1E Nt =afew o wuly & dfer
T8 /|

(D) @18 A = sroehr form (mEasd)
¥ dfe =&t w@m)

AR WU & ggwT 324-329
frferftea # 9 fm e B waft 87
(A) g

(B) IeqHETH! B g

(C) wami

(D) U= wouare @ afdert

T A, ] od Ve @ (TEW US

AT S (GST)) T =18 Y ey
@ fory erem uftem e foen &7
(A) 18%
B) 25%
(C) 28%
(D) 32%

SERIES-A-E



E— el R s Wi

Q37

Q38

039

Bezwada Wilson is a social activist who was
awarded the Ramon Magsaysay Award in
2016, What is his sphere of social activity?
(A) Eradication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging

(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic
cruise missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses
the nation through his radio broadcast called
‘Mann ki Baat’". When did this program get
aired for the first time?

(A) October 2014

(B) October 2015

(C) October2016

(D) October 2017

LM-A

Q37 Fwarel faews e wetoe wdear &

Q38

Q39

e 2016 % v 6 QAR 9 ST

o o) 9w Fr=afafeas 4 9 e

&= 7 st e afafafat s &

(A) 9Tt 5 FT IV

(B) &1 41 & H I

(C) ¥#ara whdfor (g1 9 faar gan
wré D) BT S

(D) a1t faarE o S

Brah Mos A& {uRHif-e @ma fAaEe
o Rwfaa o @ fog v P 2u @

wrer ey I o @ 87
(A) wi|
®) 4
(C) W=
(D) wH

A AR AE U WA SR B
e 9 W B gafte o & e
! AR’ B AT B | B BRIHH GEe
N 9. g gan?

(A) IR 2014

(B) ¥agE¥2015

(C) ERER 2016

(D) T 2017
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Q40 United States is the country with the world’s Q40 wgad wog FARET g &1 |ed 4l

largest GDP. Which country comes second GDP (e o9t Ie18) arel 29 & | &9
in the global GDP ranking? w1 3w df¥as GDP ¥HT # g Wi W
(A) Japan e 827
(B) Germany (A) ST
(C) China (B) S
(D) India i (€) 9
§ (D) "RE
Q41 Abdelaziz Bouteflika, the President of Q41 _ & Wl a/ee amital gociias
___ hasresigned in April 2019 bowing F ol 2019 % wAOT & TEE@ & ;T
to public pressure. o BY gwel © faan B
(A) Sudan (A) ¥ET
(B) Libya (B) e
(C) Chad (C) TS
(D) Algeria (D) arconfar

Q42 Name the new CEO of the International Q42 frae fawg &y 2019 & 915 aerisdg

Cricket Council (ICC) after the Cricket firae aftug (1CC) & v digal &1 1w
Warld Cup 2019, aarEy |

(A) Sunil Gavaskar (A) Girer Trava

(B) Sharad Pawar (B) RT yan

(C) Manu Sawhney (C) 7 wrEh

(D) Rahul Johri (D) WEe SEd

Q43 Name the ex-CEQ and MD of Ashok Q43 avw s & qd Widai aiv il &1

Leyland who took over as the CEO of Royal &1 91 8 feei e gadiies @ WiEan
Enfield. & WY H SRR waren 87

(A) Vinod K. Dasari (A) R & o

(B) DheerajHinduja (B) divwt fgu

(C) Rajeev Dubey (C) Wit g4

(D) GV.Prasad D) HA, v
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Q44

Q46

Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019.

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Whao was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyas lyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing state
in India?

(A) Kerala

(B) WestBengal

(C) Manipur

(D) Kamataka

LM-A
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Q44 1Y 2019 TF ITAE ATHN B AR,

Q45

SLESOER

Q46

Q47

SEART siadEy ove ¥ AR 2 W
™ arelt fipde dm @1 v @ &7
(A) iels

(B) =f@or ansrer

(C) sifegferan

(D) §fe

IPL 2019 ¥io9 & forg fRoel dftea &
& @ w9 H few g T 87

(A) e wEam |

(B) s wf¥a=

(C) #TH TN

(D) frew ga=

2018 ) oG # fbw vy A usig
$HY WA (National Cancer Institute
(NCI)) wnfte famm = 87

(A) VTR

(B) wumd

(C) sfRamm

(D) fRwmae wew

ARG § U gUNl SWRd U

Preiferfan % & # wr
(A) e
(B) ui¥=s @ e
(C) AR
(D) FFic®
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Q49

Q50
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Name the 70-year-old lady from Odisha who
was awarded the Padmashri award for her
work of preserving of hundreds of types of
paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Muktaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (GI) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Kamataka

(B) Bihar

(C) Andhra Pradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?

(A) Vrindavan

(B) Varanasi

(C) Samnath

(D) Chitrakoot

20

GIESEGH|

Q48 aifem & ww 70 @ty wfRam &

Q49

Q50

M 8 o offgs w dosl goR & ue
Al @ W @ e @ oy umsh
PR A W far e

(A) T, Rrerer

(B) T Jan

(C) R Somacen

(D) AT UHHAHAR T

faeht gurdt ugelt War @ ¢ AW

drmifere wdaw (Gl) & wra gam ¥

e YU frw wow 3 emd ol &7
(A) TlED

(B) fasw

(C) 3w wew

(D) 3nfEwm

IR Wou & e wew # 11 #fvem grre
Tmar Hiew fe?

(A) F=ma

(B) amTvTHl

(C) Tr=my

(D) Feraee
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Q51

Q52

Q53

The tomb of which of these ancient emperors
is located in the Sasaram town of Bihar
state?

(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) Sher Shah Suri

(D) Qutbud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh — Bihar Border

(B) Uttar Pradesh—Madhya Pradesh
Border

(C) Uttar Pradesh—Nepal Border

(D) Uttar Pradesh — Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Intel

(®) Apple

(C) Microsoft

(D) Google

LM-A
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Q51 fagr woa @ wranm wee ¥ Fefafea

Q53

ﬁmwﬁﬁammmﬁuﬂﬁ?
(A) 98TgY WE WY

feoas e &4 Frefofea & W
@ afafa amar 87

(A) TR wa¥ — fAER W

(B) FTR WY — M W A

(C) ST Waw — T A

(D) STR WAy — TTRIEVS HHAl

e B ged I 5 Word, Excel 3R
Power Point PretferRaa # & 5w @
(A) Intel

(B) Apple

(C) Microsoft

(D) Google
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Q54  Timothy Donald Cook, popularly known as

Q55

Q56

LM-A

Tim Cook, is the Chief Executive Officer
(CEQ) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there is a

feature called ‘Gutter Margin’, What is this

feature used for?

(A) Improve the clarity of graphics and
e

(B) Give provision for better document
binding

(C) Improve the clarity of the printed text

(D) Facilitate the insertion of page numbers

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal? |

(A) Pilibhit

(B) Shravasti

(C) Sitapur

(D) Maharajganj

| BE45375
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Q54 fewrel SFres ww, R fow &% @ W

QS5

Q36

A o wer #, Prafafem § 9
Ul & Ay FEAHN aftrerd

(Chief Executive Officer (CEQ)) #?

(A) Google

(B) Thwitter

(C) Amazon

(D) Apple

Microsoft Word & wey # “ex mifsfs’

AWE BrER & Freafafes § 9 fras

ferg SwamT fsar wmar 82

(A) it afv fRf ot e  gar
T B forg

(B) &R Shagie MWRT & vEuT &
ferg

(C) fics 2ave ot weam # qur o
& forg

D) I el F srer 3 g gem
& @ forg

UTR Yo I B DA 6 e Sure @

W S T W e vy 87

(A) dreinfa

(B) smawit

(C) Wremge

(D) "ERMTS
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Q57

Q58

Q59

Which of these districts of Uttar Pradesh lies
on the UP-Bihar border?

(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia

Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983.
The intent of the yatra was to renew rapport
with the Indian masses.

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) VP.Singh

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission’s
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) V.P.Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

18765375

Q57

Q58

Q59

e wew & @ w1 e IR wew AR
faer @ W av Rerr #?

(A) a0

(B) geewEy

(C) @t

(D) afern

a8 o9 9§ ustia Jon # R af 1983
i s | den Rel & woe
a% gegEr AW e gl few a7
& 47 g9 T @ St ARG S
@ |y Hee B AT F Al

T e prE @ @ am @
wae ¥ ug g A ff B a§ W=F
s & freRal @ ar 67 9
Hon & wwa # v e ge 8@
T |

(A) i T

B) @ Rie

(C) et = Riw

(D) T=9ER
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Q60 Whichcity in Uttar Pradesh is called ‘suhaag

Q61

Q62

LM-A

nagari’ because it is famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) Sri Sri Ravi Shankar

(D) Mahant Paramhans Das

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

Q60 IR Wow & fre wew & gEwT

Q61

Q62

e AN 8, I8 e ®rg &) Gl a7
& foy uftg 22

(A) THeIsmars

(B) TREYY

(C) ammrt

(D) el

FPrferfae “emsif 3 & S & Sar e
R iR We & HEa god of 82

(A) 91 |l

(B) Inft anfecrmy

(C) =it =it xfa viww

(D) W&d UWEY =19

W, 98 Ui Wi St e g A
3T UE e Suy Ry o, g Fefafag
% wEe @ aga A fug &2

(A) 7o

(B) argtear

(C) #ir

(D) awToRey
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Q63

Q64

Q65

Q66

Which part of Uttar Pradesh is famous for
the delicately embroidered sarees called
“Chikankari sarees™?

(A) Moradabad

(B) Lucknow

(C) Meerut

(D) Prayagraj (Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan.

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

Name the South Indian King who
vanquished the forces of the Dutch East India
Company in 174] in the battle of Colachel.
(A) VeeraPandya Kattabomman

(B) RajaRajaChola

(C) Marthanda Varma

(D) Haider Ali

Name the famous warrior begum from the
principality of Awadh, who fought the British
as part of the 1857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanara

(D) Begum Meherunnissa

Q6 L]

Q64

Q65

Q66

IR U B T G v FEEerd
aifsar ams How a8 T wifsal &
forg afta &7

(A) TR

(B) &S

(C) e

(D) TarR (§AETER)

78 #1 § wf2 v wa & Rl g
U g HERY wafiaaee e
or?

(A) e

B) qeam

(C) wferam

(D) gerviEm

altvr wva & fpw wom 3 ad 1741 %
FHATIA F TG g9 e g I
@1y far an?

(A) dRmiEm FEREEE

(B) wrar T wH

(C) wretus st

(D) #av =

arae Y Rarwa 9 9w ofg dvgr
&1 A @ & PR 1857 9 e i
UG & A B A derg § arr
o

(A) ¥7% Boa WB
(B) ¥ orar g
(C) T wdiam
(D) ¥ Aswf~mm




Q67 The first emperor of the Mughal dynasty,

Babur, has written an autobiography in his
native tongue of Chagatai Turkic. What s the
name of this book?
(A) Mughalnama
(B) Baburnama
(C) Baburmubarak
(D) Baburbihaya
Q68 When Atal Bihari Vajpayee became the
Prime Minister for his first tenure in 1996,
what was the closest approximate duration
ofhis Prime Ministership?
(A) Twodays
(B) Twoweeks

(C) Twomonths

(D) Twoyears
Q69 Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself.
(A) Ajathashatru
(B) Sariputa
(C) Jivaka
(D) Rahula

1BGBEITS

Q67

Q68

WA 49 B Usd WHE AW A
g wr wrd e 9§ Ao s
fadl 81 g9 g@s &1 AW T 87
(A) T

(B) @Al

(€) TEGIRD

(D) amarfagmr

1996 % wa ¥ed fawrh gowd usd
IR FEEEA 1 4, @) S A $
w0 A ®W T B e yafy e
o7

(A) a1 f&s

(B) &1 BWI

(C) =1 weM

D) 3 =

o fiftar @ wvaw 4 99 wfhE
faftpeae &1 @1 W & W W 36 @
ol fafseaes 47

(A) Sromrrg

B) @Ry

(C) vira®

(D) wiger




Q70 Which of these statements is TRUE with

Q71

Q72

regard to the poem ‘Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore’s first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at

India’s 5-year plan system was adopted
from Russia. Name the Russian leader who
firstimplemented the 5-year plan approach
in Russia.

(A) VladimirLenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchey

Nearwhich European capital would you find
the Palace of Versailles?

(A) London

(B) Paris

(C) Rome

(D) Brussels

LM-A
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Q70 dig=rr 2R g foredl 1 sfar smmw

Q71

Q72

AR 9T ® ey ¥ Prafafeg 4 9

B AT FUA gh 87

(A) T& TR F ygeh Hioar o

(B) =9 ®iden & a1g # AvAR e 7 A
NI @ WY 3 AT

(C) z% faar & fog 2 =1 AR
qwEn foan )

(D) @& faar wiataa § ve e &
wredT ot |

HIRe B va i G gonelt &) w9
YT AT AT | S W ST By 7 A
o forem weell aw w4 W ga affg g
@ giiemiv &I ar far ur

(A) =R aff=

(B) wirG weifem

(C) fomifre domg

(D) ffeer Geaa

a1 AEe Frefofiaa 3§ 3 fw R
A & e Rer #7

(A) v

(B) R

(©) 9

(D) w¥ieH
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Q73

Q74

Q75

The two famous universities of Oxford and
Cambridge are located in which country?
(A) France

(B) United States of America

(C) United Kingdom

(D) ltaly

How many total biosphere reserves are there
in India?
(A) 10
® 12
(C) 18
D) 25

The Dandeli Wildlife Sanctuary is located in
which Indian state?

(A) Kerala

(B) TamilNadu -

(C) Telangana

(D) Kamataka

L
P
%

%
-]

Q73

Q74

Q75

steamrd ot dfaw e @1 wfha
freafienea Prafefe e 3w R
.14

(A) w9

B) wgF W IR

(©) Tmes fmsw

(D) weelt

TRa A 3E o weidm davas
(e Rord) &

(A) 10

®) 12

() 18

D) 25

Feeh aooia apaReg W @ e
= # flem &7

(A) B

®) i g

(C) A

(D) TS
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Q76 What is the HCF of 22x 3"« 5%x 7,

Q77

Q78

Q79

SECTION-3 | GENERAL SCIENCE / ARITHMETIC | 50 QUESTIONS

2x VxS xPand 2x3x5*xT?
(A) 210
(B) 420
(C) 1005
(D) 1050

Solve the following.
36 |

a--uun-ln-l—-.:?

81 9

(A)
(B)

(©)

Gl Cl= Vi O|a

©)

A number is as much greater than 55 as itis

lesser than 79. The number is:
(A) 59
(B) 63
(C) 65
(D) 67

The sum of three consecutive numbers is 96.
The greatest among these three numbers is:

(A) 28
(B) 31
(©) 33
D) 43

LM-A
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Q76

Q77

Q78

Q79

2P x5x7, 2x3xPx T 3l
% 3x 5 x TP T AECH THIAND
(HCF) et @37

(A) 210

(B) 420

(C) 1005

(D) 1050

ol &1 g9 91
36

|
TR
(A)
(B)

(©)

Ol Ol= Ol Vs

(D)

UE e, 55 9 I f 7 & foweh
o5 799 oY) & He s #)

(A) 59

®) 63

(C) 65

(D) 67

s o Wit @ dr 96 &)
o1 vl # wasy 9 v e W R
(A) 28
(B) 31
(C) 33
(D) 43
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Q80

Q81

Q82

Which of the options will come in place of

the question mark (?) in the following

equation?

1284+ 16x3-Tx2
7-6%6-3

(A) 16

(B) 49

(C) 60

(D) 128

|

1000 boys and 600 girls are examined ina
test. 43% of the boys and 35% of the girls
passed. The percentage of the number of
candidates who failed is:

(A) 40%

(B) 50%

(€) 58%

(D) 60%

A finishes a work in 9 days and B finishes
the same work in |18 days. In how many

days will they together finish the same work?
(A) 3days

(B) 6days

Q83

LM-A

(C) 8days
(D) 9days

How many minutes will Preethi take to cover
adistance of 500 m, if she runs at a speed
of 30 kmvhr?

(A) 1min

(B) 2min

(C) Smin

(D) 6min

pFins ]

30

Q80 fr=ifefga Wi & weftw () &

Q81

Q82

Q83

Wi W feafefaa 4 9 @9 w e
STqT?
!25+Iﬁx3-—'}'x2_‘|
PEExE=2"
(A) 16
(B) 49
(C) 60
(D) 128

& gen | 1000 @23 MR 600 Fefdar
o g off A 8 ) oewt A W 43%
st wrefat § ¥ 35% arg B0 &) oa
B A Ol @ g afwa
g

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A &8 &m @1 9 s # qur awven @ aii
B oWl @ @1 18 f&m # yw wwen 82
a1 Ty e e e s ) e fim
W g w?
(A) 3f&A
B) 6
(C) 8fR=
®) 9=

ofy Mifey 30 knvhr 91 7Y & e &, o
9S00 m W g B T e faeen
e :

(A) Imin

(B) 2min

(C) Smin

(D) 6min

SERIES-A-E




Q84

Q85

Q86

Q87

Which of the following cars with speed given
below is the fastest?

(A) 90 km/hr

(B) 25 m/sec

(C) 1500m/min

(D) 100 kmvhr

A solid right circular cylinder has a radius of
21 cm and height of 16 cm. What is its
curved surface area?

(A) 2000cm?

(B) 2002 cm?

(C) 2010 cm?

D) 2112cm?

Two pipes Aand B can fill a tank in 16 hours
and 48 hours respectively. Ifboth the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12hours

(C) 15hours

(D) 16 hours

Al present, the ratio between the ages of
Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A) 20 years

(B) 21 years

(C) 25 years

(D) 30yecars

LM-A
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Q84

Q85

Q86

Q87

ra @ wE nfty areh Frefarfar Rt 4
A B A IR wAD a9 87

(A) 90km'hr

(B) 25 m/sec

(C) 1500 mVmin

(D) 100 km/hr

U® ore wa g d@ @ Bo 21 om
3R FaE 16cm 8| 553 3 Wl (curved
surface) 8T B SE 39|

(A) 2000 cm?

(B) 2002 cm?

(C) 2010em?

(D) 2112cm?

A 3t B 2 urgy faneh @ @ 16 6 3l
48 52, A | W wHa &) ol =W
Ry 0% WY Wi Ry o o 2
W | e v e

(A) 10E

B) 1262

(C) 1582

(D) 1662

Tt i fva ofi R & amg =
U 4: 581 6 Wit @1E e @ oy
26 a & wef | b ¥ R @ amg
ar 87

(A) 204

(B) 2194

(C) 254

(D) 30
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Q88 U waI® Ul [gaw 9@l @ W e

Q83

089

Q90

An accurate clock shows 9 o’clock in the
moming. Through how many degrees would
the hour hand have rotated when the clock
shows 3 o'clock in the afternoon?

(A) 150°

(B) 155°

(C) 175°

(D) 180°

If a straight line inlersects the sides AB and
AC of a A ABC at D and E respectively
AE

—_—

and is paralle! to BC, then AC

(A)

(B)

(©)

(D)

A system of two linear equations in two
variables is inconsistent if their praphs:

(A) cutthe x axis

(B) cutthey axis

(C) coincide

(D) donot intersect at any point

If8 =45 thencos™ @ +sec’ 6 =7
(A) O

B) 1

() 2

(D) 2.5

SIEOYFEL
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Q89

Q90

Q91

2 v vl Qo @ 3o a2 @
e o i fean 3l uv el

(A) 150°

(B) 155°

(C) 175°

(D) 180°

Iz farll Brgw A ABC @1 o AB 3R
AC &1, Wi ¥rfl Y@ D ofR E v &
wmedl & ot 78 BC @ THFEN & o

AE

_ﬂ‘.}

AC

AD
EC

AD

DB
AD

AB
DE

BC

(A)
(B)
©)

D)

g1 Wt wifiewvit o ue womel! | & e
e & ok o A

(A) x 3&l &

(B) y & B

(C) %Y &1 (coincide)

(D) fah *f fig ov uftede 7

ufs 0 =45° 81, o cos’ 0 +sec’ B =7
A) 0
®) |
© 2
D) 2.5
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092

Q93

Q95

Q96

If the system 6x—2y=3, kx—y=2 hasa
unique solution, then:

(A) k=3

(B) k=3

(©) k #4

(D) k=4

The square of any number is divided by 4,
then the remainder is:

(A) 1

®) 0

(C) either1or0

(D) neither | nor 0

While resolving 1500 into two factors, the
possible number of ways is:

(A) 12

B) 18

(C) 36

(D) 24

The ratio of Amit's age and Anu's age, nine
years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19

B) 11:13

(©) 15:16
D) 21:25

Each of the interior angles of a cyclic polygon
with ‘n’ sides measures 144°. Then, the
measure of the angle subtended by each of
its side at the geometric centre of the polygon
5

(A) 30°

(B) 144°

(C) 54°

(D) 36°

LM-A
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Q92

Q93

Q95

Q96

Al womrel 6x ~ 2y =3, ke —y =2 & (&%
g (afre) sa & o

(A) k#3

B) k=3

©€) k#4

D) k=4

e W W & T W 4@ Rnfom
e W feen 9y qaor 27

(A) 1

B) 0

(C) Griar o

D) 7137 &o

1500 & @ oA @l A e wa
ade! ¥ fefor Rean o w87
(A) 12

B) 18

(©) 36

D) 24

t af wed, afa R ag A Iy W
IR 5: 7@ T 3@ @ 5 af Aw,
ffafam # @ 9 W o ang &
Fare Y 8w 87

(A) 13:19

B) 11:13

(C) 15:16

D) 21:25

‘0’ IRl AT U i agya (ArEfivie
i) & e aaRes o &1 wm
144° & M, @gyw @ Suifdl @ W
TS WS oI ERT T Y SO B
7 faseen &m?

(A) 30°

(B) 144°

(C) 54°

D) 36°
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Q97

Q98

Q100

T | %
i Sin f-3sinf+2 _ 1, then & can be:

cos’ @
(A) 45°
(B) 60°
() 30°
D) 0°

Club A had won 30% of the first 60 matches
it had played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve
a success rate of 44% in that season is:

(A) 15

(B) 20

(C) 30

(D) 25

What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram

(B) Mission Shakti

(C) Mission Vikram

(D) Mission Sahas

What is the application of the GSAT-31
satellite launched by India on 6 February
2019?

(A) Earthobservation

(B) Navigation

(C) Climate and Environment

(D) Communication

34

366

T T

Q97

Qo8

Q99

afy SO-38n0 2. 14 o g e
Cos

AT B
(A) 45°
(B) 60°
(©) 30°
(D) 0°

F9e AF UF Hioa § @ T 9sd 60
=l A A 30% fra oy B o dow A WY
9 o A 44% B Saa W Bfed
o @ foy fmm sfeRe =prem f
Qe afdy?

(A) 15

(B) 20

(C) 30

(D) 25

DRDO &wT 27 #rd 2019 #1 &f ¢d
g @™ §IU gevor glww 9,
Aeeads (é-deamge e afew
farar T e, g9 v &1 W W ar
(A) e oo
B) B ufam
(C) e famw
(D) frr wmEw

Q100 6 T¥ad 2019 & AINE T wf=a fv Wy

GSAT-31 Suus & fr=fofeen 4 4 o
o Igwar &7

(A) gedt &7 sracren

(B) 9wy wayH

(C) wieary afie aramaer

(D) HaR
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Q101 Name the nuclear-capable surface-to-
surface intercontinental ballistic missile
developed by the Defence Research and
Development Organisation (DRDO).

(A) Prthvilll
(B) Trshul
(C) Agnis
(D) Barak-8

Q102 Which of the following is a part of the

Q101 2 A 3R @@ wWres (DRDO)

T s 9 How e el g
afe-wEgri foftes fMwge & M
a1 87

(A) ge Il

B) B

(C) sfq 5

(D) TT5-8

Q102 Prefeftaa % | @9 @ ufdsn oa T

# wfte wftrar &1 v femr 87

process involved in water cycle?
(A) Evaporation (A) arsfiavor
(B) Sublimation (B) SeEuS
(C) Freezing (C) fedfravor
(D) Meking . D) e
E
Q103 Deficiency of whichmineral causesanaemia? 9 Q103 FyeiferRae # =¥ fisst @h¥or (mineral) 1
(A) Magnesium ol 9 g g #7
(B) Iron (A) H=hfirm
(C) Zinc (B) de
(D) Lead (C) wrem
(D) Hr
Q104 Whichofthe followingisacommonlyused Q104 Tt @ g& o & oy amrf w
chemical method for purifying water? gwrE f o aren e ader
(A) Hibemnation frefafm i s dm w &7
(B) Excavation (A) fraffesam (sgavieE)
(C) Chlorination (B) SeET (qTwmaTH)
(D) Denitrification (C) Feririrewo
(D) IFERIH
Q105 Which of the following is the source of Q105 FrifeiRem # & B M3 urft w1 waw
freshwater? o W 87
(A) Ocean (A) BT
(B) Sea (B) WX
(C) Brine (C) @1 O
(D) River D) &
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Q106 Which of the following is a good source of
vitaminA?
(A) Fishoil
(B) Sugar
(C) Banana
(D) Coconut oil

Q107 Sound CANNOT travel through:
(A) Gas
(B) Vacuum
(C) Liguid
(D) Metal

Q108 Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy
(B) Kineticenergy
(C) Chemical energy
(D) Wind energy

Q109 CGS system of measurement units stands for:
(A) Coulomb, Gauss, Steradian
(B) Celsius, Grade, Second
(C) Centiliter, Gallon, Siemens
(D) Centimetre, Gram, Second

Q110 InElectronic Communication Systems, noise
refers to:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb
Messages

1824705
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Q106 F=farfas 4 § o= @1 fef= A& s
T e 87
(A) Aol BT A
B) i
{C) ®en
(D) RTa * da

Q107 et F=fafta & & fea ae § aen
a8 N " &7
(A)
B) Fai
(C) =&

(D) &g

Q108 mifew & fash & waw & o wifom
el ewmwht & o owt =1 #19 W w5y
UF gadidl o % yeafom 89 &1 sRu
T &7
(A) Fafys st
B) T o
(C) wrmaf s Fol
D) g Sl

Q109 Ay gHEAl A CGS el 1 Freifafam
# 9 Ty uRam 87
(A) e, e, wifEeam
B) Hfewrw, Te, s
(C) wfeferer, o=, dfa
(D) #&rfrex, Tm, Ao

Q110 seagife war wonferit % dv Frafafim

# & o wafifa @war 87

(A) Iaifoa Rreew o w29 Rieea @
WHRY 3 weEsor F amn s

(B) & B JHaF TETE I a9
e

(C) W @fy g oY g Ay Al R

(D) smaifese HWag=d S wani A ann
B &
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Q111 Which of the following is TRUE about the

process of evaporation?

(A) Itdoes not depend upon humidity level.

(B) It increases with increase in surface
arca.

(C) Itdecreases with increase in wind
speeil.

(D) Itdecreases with increase in
temperature,

Q112 Plaster of Paris is a product of:

(A) magnesium
(B) ahusminium
(C) calcium
(D) sodium

Q113 Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Itisanartificial polymer and possesses
elastic properties.

(C) Itis nota polymer but possesses elastic
properties.

(D) Itisanatural polymer but does not

possess elastic properties.

Q114 Which of the following is a form of calcium
carbonate?

(A) Washing soda

(B) Bakingsoda

(C) Limestone

(D) Table Salt

LA

Qi

Q112

Q113

Q114

amsfteve & wfsar @ an o Prafefaa

4 ¥ oF ud &7

(A) T8 7 & ww w el ad s

g

(B) ¥E waE & &= H gy 1 W T2
gl

(C) uE gar o fay d affg ¥ W we
ol #®)

(D) I& a9wF 4 gfEg &9 U ue aRi
4

ey oifn tfte Fr=fafe 4 9 fa
% gegrg &7

(A) H=hfiwm

(B) vegfafim

(C) Hfcarm

(D) wifEEw

wpfoe e @ ant 7 Frafafen § 9

P A YA e &7

(A) 9% & uiplos sga® & v 3w
AIER 7 B E |

(B) @® s o3 ages & afw gwd
wrEer v g )

(C) ¥E U@ TgAS 76l 8, df g
Glecifug 4

(D) 4% U@ Wil agas & afte get
aArer v T8 g 8

Frefafas 4 @ @9 ar dfceam sEke
COREaR L

(A) SR wrer

(B) af@w et

(C) TN

(D) 2a@ wfee (77®)
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Qlls

Q116

Q117

QlI8

Q119

LM-A

Dietary intake of is essential for
the normal functioning of thyroid gland.

(A) sodium

(B) caleium

(C) iodine

(D) potassium

Which microorganism is Penicillin obtained
from?

(A) Amoeba

(B) Vinus

(C) Protozoa

(D) Fung

Which of the following diseases is caused
by the deficiency of vitamin A?

(A) Rickets

(B) Scurvy

(C) Nightblindness

(D) Pellagra

Which of the following diseases is caused
by the deficiency of vitamin B1 (thiamin)?
(A) Rickets

(B) Beriberi

(C) Nightblindness

(D) Pellagra

Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

99 vI6i
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Q115 Iag (urdige) 19 & W SHETE
& forw amer # Frefafaa 4 ) feaa
A B TE0 87
(A) wifeas
(B) Hfceras
(C) amad=
(D) qrefirm

Q116 vAfHfem fa wesslla 9 wra & &7
(A) s
(B) fammy
(C) Wi
(D) #a®

Q117 Refm A &% ¥ Frafafaa 5 9 @
T W B 87
(A) Rags
(B) ¥l
(C) wlfe
(D) e

Q118 faefwm B1 (Rmifas) & &6 4
frforftre o & 29 & O B 27
(A) Ragw
(B) #8449
(C) el
(D) e

Q119 Fr=fafaa 4 & 9 1@ fAefE & ahH
@ IROT B arer e & R 9y, md,
B 3l U9 ov TEY @ 9 @ 9w ue
o &
(A) &
(B) gadias
(C) uefovan
(D) &
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Q120 Blood enters the kidney through the:
(A) renalartery
(B) external iliac artery
(C) axillary artery
(D) ulnar artery

Q121 Which among the following organs secretes
bile juice?
(A) Heart
(B) Brain
(C) Kidney
(D) Liver

Q122 Which among the following diseases is very
rare in women as compared to its occurrence
inmen?

(A) Myopia

(B) Kidney stone
(C) Braintumor

(D) Colour blindness

Q123 Haemoglobin is the protein inside red blood
cells that carrics:
(A) oxygen
(B) carbondioxide
(C) nitrogen
(D) ozone

Q124 Which of the following is equal to
8.13 x 109
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000

LM-A
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Q120 freh s 72 # vau Ffofag d @
fase wmeam | waw Fwar &7
(A) TT5 Tl
(B) &Y sforas oFh
(C) =& (vfarerd) et
(D) i wsiftos (3reaw) a7t

Q121 Fr=fafias 3t & | 9 w3 e ™
W1 W@ AT 87
(A) 524
(B) TS
(C) &t
(D) TFa

Q122 fr=fafaa & | @ wr W7 goul A
dqern A Afteni § aga o9 e 87
(A) Fraegfe A (Arfdan)
(B) farsh % gl
(C) ¥ TP
(D) qoiferar (FeR @ESTH)

Q123 grirafs e Y PIERI & 3y
1 UH WeE & v gy f=fofaa A
fareaT a8 v 87
(A) affedor
(B) @1 SEIATaEES
(C) g
(D) 3=

Q124 Fy=fafas & 94 919 w s
8.13 x 10° & &way &7
(A) 831000
(B) 8310000
(C) 813000
(D) 8130000
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Q125 When 0.353535... is converted into a Q125 W 0.353535... @ =1 & aaan o £,

fraction, then the result is: ar gfvems @ g
35 35

A) 39 (A) 5o

w 35

B Too ®) 100
15 15

(C) T (C) 19
1. 1

(D) %9 (D) 9
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Q127

Q128

Q129

Q130 °

LM-A

SECTION-4 | GENERAL HINDI | 25 QUESTIONS

Frefafaa 4 9 9 @ Ram gm |
o 87

(A) Wa—3mMg

(B) Ha—aEH

(C) F@-sm

(D) wr=g-a14

M- S & fog Wl ank-gm
g1

(A) TS

(B) MEd-TH

(C) Frd—Fareh

(D) Freet—fird

W §fedl @ uga | 4w 8-
arin @ fore ue e aoRy |
(A) FRafom

B) FRmfus

(C) i

(D) geErqy

TH WG O W EA o W -
Wifa g & o9 W wal {7
(A) B

(B) siferavor

(C) wvEr

(D) e

(B) = T
(C) wie™ ¥a
(D) W e

41

Q131

Q132

Q133

Q134

FTHA A B ety ofte o -

ERMREGIN (€ o 1 i

fpferfiaa o @ @ @ &7

(A) 9w T f6 4 Pl &

(B) 9w @e 3R aw iy diffa g

(C) =w+ w1 ¥ 39 Frefy wifta fsn
iy |

(D) J6 @w1 & & a3 el
afier & 28T §)

faem fore & wair o gfie & Prafafa

4| @ ou A a8

(A) @8 §¥ ¥, g X A, 30 @ 2|

(B) T, N, T® M W B}

(C) =1él, 718, Twr &0 1El & wwan

(D) e, = S A 8, W @ gde
= )

ofedt v e @ wd aef
B

(A) ofedl W% v

(B) uftsm &

(C) ¥Ea ey FH

(D) YA HEAT

A & A WEl g A @ wl
aef ar #7

(A) @@ A g 3R et § g
(B) 7 W # ¥, 7 AET A gE@
(C) area &

(D) %@ T ¥ Tm
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Q135

Q136

Q137

Q138

PSGI

f&t wiftw @ sherw @ frm ow =
g B N S Ty 87

(A) fesra

(B) wfear

(C) dftrara

(D) smIFa el

Frmferfaa 3 @ @ @ vaen geredara
# T8 &

(A) TR

(B) et

(C) Sgwrirmach

(D) werrTe

& =1 vem wwaR 13 @ @
(A) = a9= g

(B) 9<a wkiva

(C) &farg ufa

(D) wEE

& & 7@ wafRy e weh o &2
(A) AFTER JTHE

(B) g sty

(C) &H Iy

(D) ¥RIFN iy

Prefafan smed &1 awga Hifte
R A Ry v g (we e 139 -
141) & SR T

ioge @wer wa A Wl sk
wfr o Sgufen ®vam #) 9w,
wrEg 3w ofds amaer @ e 8

193T60T2

fragen @asr gde afde & fam
fecax | g9 W &) wnfoy 7ot 8
ivam @fés wee gog o o 8
Nege AaeR | A @ W B
TuH angien ofv wiw A Refrdt &0
T 81 BN | g U9 e anmEwy
&1 gur gren 8, forent il s @
¥ Fe & | e afde as W
# Y W wit ) e B
2 Ma_gom sqayl stm 2 5
foft ad @ fargd &) twa adl
et | SiftrT—anirey, fwre— e,
Brel-78t it wit @ fag Mege
ZEER W HY & aravas §) e
4 aft e &1 apma & o 9% o e
A it v e =1t o e | M
R a1 e A s A
gig wa @ 89 el # ofe W @
T @farre # wreftren an ot @ g9
I o A Sufefd F s o f
I anfrrer wfaifRat @ $ra, R
IR fRufiat 2 fa oo o iR
e & dw 7R Ry e vt
gt & IR vl o A sdguem #
gfg €l &) 39 1o & wmaw @ BR-A
—Bier @fw w2t A werpfy sl wv
o & | it v et afie A wpor
81 59 o & ke fvar o wear #)
uRaRe weer g9 11 #1 Rsfia aiv
fomfa &3 & ago 3 sfoe
T T #)




Q139

Q140

Q141

Q142

LM-A

frefafe 4 @ @9 o ous Ba @

wag # g &7

(A) Wiege WuER | Y@ awama
@1 fAmior gen &)

B) fiw w & qor #

(C) wRafs wen WMa = fwfm
@ ¥ eyl e P £
(D) Yege @R vel-a3l § Wi

w9 W s #

e % Yy sw @ Sfer e

Bl

(A) Wi wy g R wmen &

B) fa el & & el w fa wi
venfie & dar &

(C) el e @1 wyer g & o o
ol frss 7 aren |

(D) wiEt wrd fAmem # awt fa @
Wy B &)

e A W A e e @ Ram
&

U HIE WEN UA, AT 9T q@
oI9E U WY e Rt @ dor an
81 Bl, o4 99 U oEr o 87

(A) TEtag Iy

(B) Hfewga

(C) IFHRS

(D) Ry

Q143

Q144

Q145

Q146

Q147

Yo+ e ) el 59 wen &
T & g0 i @ foamr mr o
fra sife & afta smom?

fFrafafaa 4 9 99 W sow aw=
14

(A) @

(B) @

© =

D) T

frefafa § 9 99 W "R Toae®
#?

(A) %

B) 3n

(€) 3t

(D) ©

a1 + 9 5y W | & S 87

(A) @
(B) ¥4Ity

(©) &
D) 3o

weaT 5w wn & Semw #7
(A) I=mdmE

(B) TIEN
() &
D) &8
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Q148 ¥ wftwdl Wiy gw aifew -
ar o Yifda yera-va frefafaa
% ¥ 5w Yg @1 gemw 87
(A) WA
(B) feranfaeao
(C) wHEawE
(D) fwmfEas

Q149 T ¥ figh wa v 81 -
arg ¥ Y@ifea ve v @ e 9
& aferta smg?
(A) ToraraaE
(B) ufwmmEmas
(C) wfdeor
(D) wrd=nfam

{ TH360T 2

Q150 Fr=feafea % @ o9 W e weaa &
qafaard &7

(A) @&

(B) dde
(C) wnferm
(D) g
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ROUGH WORK /7% &1d & fav
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Read the following Instructions carefully :

fF=fafaa FEel &) a9 ) o

I. Out of the four altematives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed

1. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheel. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

5. Each candidate must show on demand his/ her Admit
Card to the Invigilator

6, Nocandidate, without specinl permission of the Center
Superintendent or Invigilator, should leave his / her
sent,

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electrenic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10, Afier Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed 1o leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheel.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
lavigilator after the exam,

1. & g & foe Ry 74 51 et § 9
el 9T @ AU At U9, IR IR tEe W
Fq0 (& T 31 & [ 0% o 4 dige
U1 ¥ HY | U T% IR sifda BT 9 @
qE I 951 T o gFar 2|

2. Tdemedl gFftes &Y @ o w=e @ A
7 WY U9 99 W 3% 3 e w1 el
Tderlt A9 IgEEie SR TEe A Pl
wH & JfoRe s=a= 7 e

3. e V4 ST UAS B AFED
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